1 RENRT AREH & (t- CO2)

FER « B/ NEF BiHBHE-A HhBRIE R L e F iR IR T

TEBhOFIH H28 (JLHE) R4 R5 R6 R7 RS R12 (H4E)

AV (A E) 129 144 144 144

£T I 4 3 6 3

PREL D ] Bl (A E) 67 60 65 65
WALAMA A (DAL 10 20 18 19

i T A 38 78 50 74

ft N2> S S L7z R O RO & 497 364 349 369
F 4 — BT DO 30l — 0 0 0
AT Y U AR IRT DRI | #H A — 1 1 1
£T i - 0 0 0

FE AR 2 BBt A WAL AT 2 — 0 0 0
# i AT A — 0 0 0

#V Y LPG il - VSRR EL (EB 10 4 80F) - 0 0 0

INA — 0 0 0

% E) 5 — 0 0 0

- e E ) — 0 0 0

/NS ) — — — -

BT B = — 0 0 0
g - /N SRR T R — 3 3 4

g - SR (GER 10 4 L0F) - - - -

IN A — 0 0 0

L3l e m s — — — -

/NS ) — — — -

Wi - NV AR — 1 1 1

BEfEHT7T 2T v aF— N — 12 12 12

RN AR R 746 686 650 691 552
BB (%) IR 8.04 12.87 7.37 26.01




2 R=BRTABPEHE (¢ CO2)

¥ H28 (JLHE) R4 R5 R6 R7 RS R12 (H1%)

Tk EE CO2 746 669 633 674

* 4 CHa — 1 1 1

—W#{t —2EF N20 — 4 4 4

A Fa7rtad—Ry HFC (1,1,1,2-7 R 7 vt rx & ) — 12 12 12

TN Afe Pt 7 746 686 650 691 552
HIEER (%) SHUEFEE L 8.04 12.87 7.37 26.01
3 R HNR =R APEHE (t- CO2)
53 H28 (HHE) R4 R5 R6 R7 R8 R12 (H1%)

THBLR 50 e Bh 2 277 232 226 239

FRER HaRAT 57 42 42 44

FHBVGHPLE 73 62 64 61

A H BT 42 31 32 34

i HH s 35 34 32 36

/NEF B 142 176 145 162

HIEGHB % 81 73 74 79

T AR AR RT 28 27 27 27

BT (ZEER) 6 5 5 5

A kR (2 EER) 5 3 3 3

TRE NN AR R 746 686 650 691 552
HIER (%) AEUEFEE 8.04 12.87 7.37 26.01
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